1. Which of the fol
nmlched?‘
(1) Bharavi

- Kimmrjuniya

2 Vatsyayana - panchtantra _

(3) Harishen - Prayag Prashasti

(4) yatsabhatti - Mandsaur Abhilekh
(Kumargupta 1§}

pted

(5 Question pot attem
les of Ramananda who

women discip

2, Nameé the

d away his message from door to door after

carrie
his death -
(1) padmavatl and Sursuri
(2) Andal and Janabai
(3) Karaikal Ammaiyar and Gangasati
(4) Ladbai and Meera
(5) Question not attempted
3. Name the Britisher who has called the Revolt of
1857 as a “National Rising”?
(1) T.R. Holmes (2) Sir James Outram
(3) Benjamin Disraeli (4) W. Tayler
(5) Question not attempted

4 Who founded the ‘American Philosophical
Society’?
(1) Patrick Henry (2) Samuel Adams
@) Benjamin Franklin (4) Thomas Paine
(5) Question not attempted

5.
Where was the headless standing statue of
Kanishka found with Kanishkad's name inscribed

at the bottom?
:) Nagarjunakonda ~ (2) Amaravati
(3) Gandhara (4) Mathura
Y (5) Question not attempted
‘ g:o among the following was not a member of 6. i
(1) Marat o) s

D ()Habert
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7.

10.

11'-

The ‘Samiti’ for the Jain N

Wwho among the following were associated tothe 7. fy=iferRaa & 9 #rg @ i i X
establishment of the revolutionary: organisation A Pl i ) Faferd

¢ Anushilan Samiti’ in Bengal? :

(i) Barindra Kumar Ghosh () dR™ HIN Y

(i) Bhupendra Datta hl s &

(iit) Khudiram Bose (i1i) qﬂ'\rm ary
(iv) Wheel AT

(iv) Prafulla Chaki

Select the correct code -
Code -

(1) Only (i), (i) and (i)

(2) All (@), (i1), (ii1) and (iv)
(3) Only (i) and (ii)

WA @ HI A B

'QE{ s

(1) daet (i), (i) @ (iib)
(2 (i), (i), (i) @ ()
(3) Dt (1) @ (i)

(4) @aet (iii) @ (iv)

(4) Only (iii) and (iv)

(5) Question not attempted 15) GF:LHF\'H R4l :

Sir William Jones has equated Chandragupta 8 ¥ R s 3 519 i BT TP

Maurya as which of the following? e 4 feaw fpar?

(1) Amitrochates (1) aﬁaﬁq‘ﬂ

(2) Allitrochades ' il (@) a8

(3) Agrammes

(4) Sandrocottus e {1 Mﬁu@aﬁeﬁ

(5) Question not attempted e 8y ‘5) SR T

The accountant in the Shivaji’s administration 9. famt & wemEd émmaa‘rgam ST
was called - ¥ (&)

(1) Majumdar (2) Snrunay';jgg; ol (o (2 gETE™

(3) Pandltmo (4) Dabir (SR 4"“‘ W =48R

(5) Question not attempted O L e 1&%‘ R o

Which Czar has been called ‘Czarthehberamr 10. g IR W 7T aIR® SRl H gER

who reformed the internal system of Russia? Tﬁef 'cl‘\: ﬁN G@W W 'éﬁs‘f W k04

(1) Alexander IT 4 (2) Alexander I

(3) Nicholas I (4) Nicholas II

(5) Question not attempted - 2
vionks !x;og-:,s,tm do

Tl

violence through food' is callgd - 2
(1) Aishna samiti (2) Bhgsha Eﬁ@ﬂ :
(3) Vyutsarg ¢ s@lmﬂ :

(5) an{m net ‘,. sal
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was related to -

(1) Religion (2) Astronomy
(3) Mathematics () Technology
(5) Question not attempted

14. The word “Mansab” was derived from which

language?
(1) Hebrew (2) Persian
(3) Urdu (4) Arabic

(5) Question not attempted

15 In which session of Congress the Quit India
Movement  Resolution passed in
August, 19427

(1) Nagpur Session (2) Madras Session

(3) Poona Session (4) Bombay Session
(5) Question not attempted

16. Who among the following com the
“Salt March” to Napoleon’s March to Paris?
(1) Mr. Brailsford
(2) Chittaranjan Das
(3) J.L. Nehru
(4) Subhash Chandra Bose
(5) Question not attempted r

7. The uﬂe given by the Briti h ¢

was

13. The book of Gupta period ‘Romaka Siddhanta’

linear dis

sl @ 7o 3 ok
@Laferd (© 201
" (3) 290 ki
ts}ﬂﬁmﬁmwﬁﬁﬁ? (8) Quient
14, apeed (2) BT g Theaver
(1) f2g, (A Fdl i
(3) 9% i  Que

g oy (5) Ques!

FgIRA 1942 a? fora AT F g 22. The ‘Jig

g}; Rl aiiaﬂl;&! fa §3T|'? theory o

sl Rpgre  (2) FERT e ShC o

Uffﬂ'@? (8) g aAferae (2) Cont

FiEy : (3) Geo:

(@ Pl

e S A B g A

4 e 2. Theni

(1) Med

e i i {Z]"IBaj}'

i @ Bay

(8) Que
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20. Which among the follow

s : ing is the approximate
linear distance ( g pproximate

along a meridian) b
. : P etween
5°10' N latitude to 7°50' N latitude? L

g % (1) 296 km () 302 km
: (3) 290 km (4) 283 k
288 km

(5} Question not attempted

21. The average Albedo of the

(1) 27%
(@ 319
(3) 47% (4) 350,

I#% ‘ﬂ*\rﬂ (5) Question not attempted
E 22, L";‘[;fyj;gf—?aw-ﬁt‘ evidence is re
; (1) Convection Current Theory
(2) Continental Drift Theory - Wegener
(3) Geosyncline Theory - Kober
Ty (4) Plate Tectonics - Hess
(5) Question not attempted

Earth is -

lated with the

- Holmes

23 The highest tides in the world occur in -
(1) Mediterranean Sea
(2) Bay of Bengal
(3) Hudson Bay
(4) Bay of Fundy
! () Question not attempted

g . 24. The instrument for measuring relative humidity
. is =

(1) Aneroid barometer (2) Anemometer

(3) Hydrometer (4) Hygrometer

(5) Question not attempted

25. The ‘Nubra Valley’ is situated in -

(1) Ladakh range (2) Zaskar range

(3) Shivalik range (4) Karakoram range
(5) Question not attempted

26. The cyclonic rain that occurs in Karnataka

during summer is -
(1) Mawat (2) Kalbaisakhi

| (3) Norwester (4) Cherry Blossoms
(5) Question not attempted

27. Where is the ‘Instrumentation Ltd.’ located?
(1) Alwar ' (2) Ajmer z

(3) Jaipur
(5) Question not attempted

2.8
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tﬁf‘ﬂ' _q\? —?050' G
20. freifre § § @ 52105 FEE D )
veie & 4 ([ 9@ TS
st e o8 27 _
(1) 296 fa5 . (2) 302 B4

(3) 290 fap. M. (4) 288 fHH1.
(5) s weA
21. Qo 1 sffe Yfeaet # -
(M 27% (2) 31%
@ 47% ) 35%
(5) argeer we

22 ey g R Rigia @ waEd g
bty
) FagT a¥ Rygid — 2
(2) werddr favemy Rrgia — a7 R
(3) si=ifa Rigler — elae
(4) ©ie fagdfer — &9
(5) IgaRe e
23. fazg ¥ wad Al SuE B AR A F —
(1) e WP
(2) ST @ W H
(3) TSH F @t |
A ETE T e A
(8) argwiRT ues
24. MRS ST B A B SUBIT & —
(1) TRige Wefier () vhaniiex
(3) ETEgHeR " ) ErEIeR
(5) argeiRe wed
25. ‘g7 wId fud & —
s A & 0 (2) s s g
(3) fRratferd Aol § (4) SRORT Sl |

(5) SERING e

26, M wg A Faled d BN el whard aut

e
(1) Arae (2) wrer SHTEl
lﬁ):ﬁﬁm (@) =8 <AaH

(5) SR W
27, gREAY ferfids @el it &7
(1') aretay (2) 3T

(4) Kota - S @ Pret

(5) araRa W
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28. The ‘Israna Hills’ are located at -
(1) Rajsamand - Udaipur
(2) Sikar - Jhunjhunu
(3) Karauli - Sawai Madhopur
(4) Jalore - Sanchore
(5) Question not attempted

29. [dentify the river of Rajasthan on following

facts —

(A) It originates from Haripura Village Hills
(Chittorgarh).

(B) It meets Chambal River  near
Bhainsroadgarh.

Code -

(1) Chakan (2) Mez

(3) Bamani (4) Gambhiri

(5) Question not attempted

30. Which of the following Iron and Steel Plant was
set up in collaboration with Germany?
(1) Rourkela Steel Plant
(2) Hirapur Steel Plant
(3) Bokaro Steel Plant
(4) Bhilai Steel Plant
(5) Question not attempted

31. Which among the following isfare hot winds?
(A) Foehn
(B) Mistral
(C) Chinook
(D) Bora
Select the correct answer from the code given
below - v
Code - ;
(1) (B) and (D) are correct
(2) (A) and (C) are correct
(3) (A) and (D) are correct
(4) Only (C) is correct
(3) Question not attempted

32. Who recognized the two major layers of the °

Earth a5 Crust and Substratum?
:;; Pratt (2) Suess
*) Holmes (4) Dal
(%) Quest : y

n i

28. ph ] _ eTR 43. Garh, ¥
(@ ¥R — THL nvn
@y e — AR (3) il
(4) SiTeie — SR b
(5) argeIRa 9¥ 34. Aspe

29.ﬁﬂ%‘ﬁgﬂa@zﬁwmwaﬁ?ﬁ group
&1 gEar BITg — : in Ra
(A)angﬁ?ﬁT?zﬁWﬁﬁW} (1) J:

¥ IgfAd | 2) K
(B! 70 e A AT o Al et g ((::n
2l @) :
(@) (4) TR 35. ‘Bz:
(5) apgafa e M

30. Prfafiad § W PN dle-SEd WIS @)
& w9 wenfia f w27 (5
ORI o s RGEE 36.
(2) ERTQR T HIA fi
(3) AP gRITE WA :
@) frorg s W :
(5) argaiRe et (

1. fy=ifed § & sl T AT /Ea] § /€

(A) wi : 3%
®) fRga ¢
{El/ﬁlidﬁ- : : (
D) sR1
9 R T Be ) S B e SR - g
() (B) 1 (0) ¥ &
@ @Ay Tne) g
@) (A) 7 (D) ey &

\@agm @ 8,

- B T WEREH
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33. Garh, Kotri and Mangrop are mining areas of -
(1) Magnesite (2) Fire Clay
(3) Silica Sand (4) China Clay
(5) Question not attempted

34. As per Census 2011, which among the following

group of districts is having highest literacy rate
in Rajasthan?

™
LS
' s

(1) Jaipur, Jhunjhunu, Sikar
(2) Kota, Jhunjhunu, Sikar
(3) Kota, Jaipur, Jhunjhunu
(4) Jaipur, Sikar, Alwar
(5) Question not attempted
35. ‘Barakar’ is a tributary of -
(1) Damodar River (2) Yamuna River
(3) Mahananda River  (4) Satluj River
(5) Question not attempted

(1) Awvese @ TN
(3) fuferer ¥ @) T \
®) g M @
34. Wﬁ;ﬁﬂm“ C S _mw;’
frfafaa Ren w98 | i
HERTT &% vl 87
(1) wragr, g, Wox
(2) wrer, g, WY
\ B) PIET, SR, G
(4) STayz, oy, Fetax
(5) IR e
35. '‘GRIPY UH WeMH T4l B —
M THR A H (@) g T
@) wEFT T W (&) wdes Aa P
8) 3rgaiRa uz

36. “Tropical-wet evergreen forests”, are mostly 36. “BEG CAHE—IT HaER 7, AR # =
found in which part of India? W 9 e A e ol S #7
(1) North-West (2) South-East (1) ST—ufaw @___E.’f%ﬁ—tﬁ
(3) Central Part (4) North-East © (8) e HET (@) SR
(5) Question not attempted (5) ariRa weA :
" 37. Which of the following is a cold current? 37. fpafafam # § SR ovdl TeER 87
(1) Florida (2) Kuroshio (1) FaRer (2) g
(3) Guinea (4) California (3) frh V(@) i
(5) Question not attempled (5) SR T-rE?I b2 X
i 38. Which of the following is an example of Shleld 38 ﬁﬂﬁ-‘ﬁﬂ;ﬁ Y P U Yies_ SaEE
Volcano? SEIERTT B¢ ppr
(1) Mt. Fuji (2) Hawaiian Islands (1) HTRE Gull " ST
(3) Mt. St. Helena (4) Vesuvius 3 Hreve ¥ wo fagfaas
(5) LES]
(5) Question not attempted < ﬁﬁﬁﬁﬂlﬁmﬂ : . : -
38. Which of the following indicators is not included 3 H“ii;'.ai it :@I 'm“g' ﬂiwﬂ ‘ %[ E?"
4 in the construction of Physical Quality of Life T&Eﬂiﬁ]ﬂ? T -\qﬁqﬁmz
Index? (1) firg 7Y = (@S Flfﬁ{;m”
(1) Infant mortality rate (2) Life expecfancy (3) ST SIERaT (8) wfer =fde 3
(3) Basic literacy (4) Per capita income (5 s
(5) Question not attempted
-2—2—_ @ Pagc 7 of 32
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' : e T e R TR Y
40. Consider the following statements regarding - ga! Fo3d 2ﬂ}6ﬁ§§ AT | 23. W
MGNREGA - ' sk “eb wwq, NREP afie RLEGP & fa, D
A. Tt was started in 2006. B. oy (
B. Under it, NREP and RLEGP were merged. 3 s
Choose the correct option - : 5‘* S 2:?[ 2 ; (
(1) Only A is correct ' (1) @ael A s -
(2) Both A and B are incorrect (@) A s B @l T
(3) Only B is correct (3) dact B wd @
(4) Both A and B are correct *_(Q?Amaﬁﬂﬁg
(8) argaiRRa U¥

(5) Question not attempted _
41. Match List-I with List-II and select the cotrects 41 -1 1 113-?1’-11 4 ﬁ?;ﬂﬁ Tﬁﬁ % a4,
answer by using the code given below the lists - ﬁf‘ gﬁ; m” EQ S
List -1 :

(A) Arithmetic Mean
(B) Median
(C) Mode

List - IT
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0 ff,aj"‘

T - - ¢ T -H
43. Which of the following statements is true for 43. W& APy @ & o foe 7 9 &
S Disposable Income? T 22 - [ @
: _ A <l Br .
() D’If"p“‘-"“blf—‘ Income is the difference between (1) % gy s fash 1 A I
Private Income and Indirect Taxes A @1 AR 2|
. | | < e
7 @Y glél

(2) Disposable Income is the difference between
Personal Income and Direct Taxes.

(3) Disposable Income is the difference between
Private Income and Direct Taxes.

(4) Disposable Income is the difference between
Personal Income and Indirect Taxes.

3 g A s frrsi

(2) @ Ay Jtaas M
& B IR 2 ¢ D

a1 3 gcied cal
& w1 ol B |

(4) @ _:.ﬁv-a'.l ara dufaetd
& & 1 R B |

(5) argeiRa wed

Jrer i ST a

ﬁ%' (5) Question not attempted

o 44. If too much money is chasing too few goods, the M. ufe g aifere a1 98 o Bkl 1 GO

resulting inflation is known as - Rl 2, o gwa gRemEREEd Gl

(1) Stagflation A HEemd & -

(2) Demand-pull inflation %jlffr“q;f?; e

(3) Cost-push inflation il el

: (3) SIFTTTST= YR
(4) None of the above @) suRlEa 3 T B A
(5) Question not attempted (5) aregeRar weT
i 45. Suppose the primary deposit of banks {910,000 A3 HF E‘ﬂﬁl‘{' b dpi & yfhe SH RUE]
and the cash reserve ratio of Central Bank is 10,000 22 3R Hm dF B AFE alli'ﬁﬁ

10%. statutory liquidity ratio’ is 25% and the SRR 10% %, Yenfie axerar FgUA 25%

unutilised ratio of deposits with banks is 5% @Fﬂ'{fﬂ?f & grg oW fT @ SuEdE AgI

then the total deposits will be - 5% b,:tﬁ gl o IRl —

(1) 30,000 (2) T 20,000 (1) 30,000 (2) 20,0003

(3) T 15,000 (4) Z 25,000 (3) 15,000% (4) 25,000%

(5) Question not attempted (5) wﬁ’d RS

46. Consider the following statements — 46. TﬁFﬁ Uy faam 'cﬁl; e !

(A). Change in demand means & movement (A). #rr ¥ aRad & Gt a‘q"w’fﬂﬂ
along a given demand curve for a E:| _trﬁa‘iﬂ - ﬂ; ;ﬁ"ﬂﬁ%ﬂﬁﬂ few 7T HE 9B
commodity as a result of change in its price. w foraRer 9 1

¢ (B). Change in guantity demanded 1s 2 shift in (B) Hirfy T A F 7Rad= el 9% & Aol
st ap A fEdE 2 o frd afd ol

the entire demand curve of a commodity

m . Bk resulting from the change in _ the Afed am ar SRRl A A s
individual's money income Of tastes Of 2oyt 3 aRa & TR 2 B\
A prices of other commodities. s oy faeea g —
Choose the correct option - et (1) dadl (B) A ©
(1) Only (B) is correct : ' (2) (A) R (B) QI T g
(2) Both (A) and (B) are incorrect @) dae (A) a5 2
F (3) Only (A) is correct @ (A) 3l (B) A TR E
(4) Both (A) and (B) are correct (5) el T
(5) Question not attmpted//

Page 9 of 32
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; a7. foe ¥ 9 PIY DT g i"'
47. Which of the following statements are COITEC i gér &7 Gl ﬁ?} T e w1 m‘"ﬂ‘m !
about Keynesian Consumption Function? Select 5t FE) I T i %Eo # rc:::
3= CO [
correct answer using code given below - ) ‘ﬁﬁﬁ Gﬂ‘ﬂ"T HIfe® 3mg B ﬁq} %ﬂ (1) Suppl
i the let

(i) Monetary consumption is a stable function 2 T i
o AHid T MF L. (2) Supp

of monetary income.
the ri

(ii) Marginal Propensity to Consume (MPC) is
positive and less than one,

(iii) Long run MPC is more than-s_hortmﬁ MPC.

(iv) APC falls as income increases and MPC is
less than APC,

Cﬂde- i T
; Fic

.
g

() G, (ib), (iif) and (iv) are correct
(2) Only (ii), (iii) and (
(3) Only (i) and (i) are
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®
: L IEG :
N 50. If Government imposes an excise duty on the
commodity ‘X, then -
T (1) Supply curve of commodity ‘X’ will shift to
the left.
2 , . 3
o (2) Sup;‘aly curve of commodity *X’ will shift to
the right.
(3) No change in demand and supply. curves of
% the ‘X’.
(4) Demand curve of commodity ‘X’ will shift to
the right.
PC &
- (5) Question not attempted
51. Which one of the following statements is correct
regarding the Consumer Equilibrium?
(1) The consumer’s valuation of the goods is
greater than the market valuation.
(2) The slope of the indifference curve is less
than the slope of the budget line.
(3) The slope of the indifference curve is equal
s | to the slope of the budget line.
(4) The slope of the indifference curve is greater
than the slope of the budget line. '
ﬁ (5) Question not attempted :
52. In which of the following situation the primary
deficit of Government Budget tends to be zero?

(1) When fiscal deficit is equal to interest
payment

(2) When the net interest payment is Zero

(3) When revenue deficit tends to be zero

(4) When fiscal deficit is zero

2 (5) Question not attempted

Choose the correct option that shows —

(a) Number of Sustainable Development Goals,

(b) Year of its declaration and

(c) Year of target-achievement

respectively from the following -

(1) 17,2015 and 2030 (2) 15, 2000 and 2015

(3) 20,2020 and 2030 (4) 7, 2000 and 2015

'@;‘pueﬁﬁtm not attempted

50.

51.

52.

53.

() axgell & fog Swden @1 FEAP

Hﬁﬂm‘x'aﬁmwﬂ?ﬁwﬁg

m= &

Waﬁ‘){‘imqﬁ-’ia—;ﬁaﬂﬁﬂ?tﬁmﬁﬁ
SATAY |

tz)a@x-wﬁa—;amfaﬂnwﬁﬁ“@
ST |

(3);4%$fmaiﬁ‘t'mﬁﬁaﬂéqﬂﬂﬁqﬁ
2 (€T |

(‘)W‘X‘Wﬁ’mwa@ﬁwﬁﬂﬁﬁ@‘
SR |

(8) srgeifRar wre
ST W @ waw # fe 4 9 o
P Hel 87

TR—Hcaied | wfte iar 2 |

(2) TERT T @1 e, IE WA B ol § PH
B B |

(3) JeeraT 9 &1 I9, a9C @ B o D
TREX & ¢ |

(ﬂammrazﬁmw,mma%ma
eI Bl © |
(5) aTRIRG WA
e ¥ fre TRRYR # WIR & a9 B
wrRIfE ETeT Y Y
(1) w4 oS HTET I P & e
(2) i qE S T T
(3) vq T TeT Y W S
(&) w4 TP TeT I T
(5) SrRIRG U
ﬁmﬁﬁw@ﬁwmwﬁm.@t
(a) A4 ﬁ?ﬁrﬂa&ﬂ’iﬁm
(b)mmﬂuna‘saéaﬁv
(c)am—aqﬁrﬁwé
- 1 S & -
(1) 17,2015 3R 2030 @) 15,2000 3R 2015
3) 20, 2020 31X 2030 4) 7,2000 AR 2015

(5) e ¥

e
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54. As one moves upward from right to left along @
negative sloped straight line demand curve. the
value of price elasticity of demund -

(1) remains constant.

(2) decreases.
(3) increases.

(4) first increases, then decreases. ) _
() FrgTRa H¥T . v
o ardl A (o) D T A B g

(5) Question not attempted
55. Consider the following regarding Cmss[k.ﬂ =i @
| = fER X

Elasticity of Demand (exy) - )

(A). If x and y are substitutes, then exy is &
negative. % B

(B). If x and y are complements, then exy is
positive. ' :

(C). Ifx and y are not related,

Choose the correct option - [ %

(1) All (A), (B) and (C) are co

(2) Only (A) is correct

(3) Only (B) is correct
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< 59. Which of the following su jects are inc :
i the State List of the Cognsti::‘l:i‘-:: ::?l::l(i::';ded n 50 PR q | P T
(1) Insurance f:‘:’l ;ﬁ i wftwferd €
(1D Capitation taxes e
(IlD) Fisheries | | ({'l"'” igig W
(1v) Economic and Sntual Planning (V) a1 i wrafors AT
Choose th.e.correct option - T8 Ree T DR —
(1) Only (I, (TI1) and (IV) (1) dhet (11), (111 3K (1V)
L (2) (), (1D, (1D and (V) L2y, (1, (1) 3tz (V)
(3) Only (II) and (111) (@) et (1) &l (1)
N (8) Only (1) and (IT) o (8 gt (1) 81 (1)
(5) Question not attempted _dr“w"";}f; (8) aisiRa e
T 60. Which of the following countries are not <@ W oond um anfie aferaw & Preforad #
& included in *BCIM Economic Corridor’? A DY Ao wftAfert 78 27 M.C m
() Bhutan (D & =
(@) China (I =
(111) Maldives (I11) HWrersa
(IV) Bangladesh (IV) aerreE
Choose the correct option - w2l e g —
(1) Only (I) and (1) (2 Only (ID) and (I1I) () Saw AR A (2 Faa () = @D
(3) Only (II) and (IV) (4) Only (X) and (IT) (@) daa (I SR AV) @) FFE (@) SR (1D
(5) Question not attempted : (5) e o¥
A | 61. Consider the following Steps of Scientific 8% S Rigia et wiea & fFyeifra o
Theory Building Process - - R fAER ?ﬁﬁ'ﬂ 5
| (iy Hypotheses (i) eI
(ii) Classification of data (i) e o1 e
(111) Verification (i) I
(iv) Generalisation (iv) ARSI
" Arrange the above steps in correct order - Sudjs TR Bl W P ¥ Eﬂﬂﬁ’@mm —
(1) (iv), (iii), (i), (i) 2) (i), (i), (ii1), (iv) () (i), Gib), G, @ y&) (i), ('li.L (H.}.), (1.\')
@3) Giv), (i), (i), () @ @), (D, (), (V) @) (iv), (), D), () (@D, G, @, ()
(5) Question not attempted (5) Cﬂﬁﬁﬁ EAS
62. According to Part-V Chapter 1 of the 62 WA & wfaeE ® "WT_'YA S 1 $ 3‘12;
Constitution of India, which of the following is g Eh‘fﬂ'mw 3 fifed LR
f& not included in the Executive of the Union? wfrferd e &7
l ‘ (1) Attorney General Mﬁﬂmﬁ
87 | (2) Comptroller and Auditor General (2) foreis 3N ETCTETIED
(3) President @ wsufd
(4) Council of Ministers (C)) H’:?Tqﬁﬂﬁ
(5) Question not attempted (5) a@ﬁﬁﬂ LESl
2-9 Page 13 of 32
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63. Consider the following statements regarding

Mission SAGAR’ - .
- unched by India in 2020 to enhance

A) It was la ] - ;
: Joint Military Exercises with the Indian

Ocean region countries. _ ':.
(B) It is consonance with the India’s vision O
‘Security and Growth for All in the Region’

(SAGAR).
Choose cotrect option -
(1) Only statement (A) is correct
(2) Only statement (B) is correct
(3) Both the statements (A) and (B) are correct
(4) Both the statements (A) and (B) are not
~ correct 5 e Y
~ (5) Question not attempted
64. Who among the fo
considered  liberty am{ ¥
‘Complementary P:_incip]qs_": fiid
(D) RH. Tawney N
() F.A. Hayek

¥ g fear el
et iR R (AFR) & 9T &

(2) dae b (Bma
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S

g7. Which of the following statement is not correct 67. TSR H
regarding Political Theory/Ideas?  Rrga / fRar @ w=id foreife?

)i (1) The classical political thought is concerned :‘:)TT;T;H'&FI “ﬁ Gkl &7
with the questions such as the good Wk far I wgar.
%“'Q community, the obligation of citizenship. TR @ Tifreg Sy geEr @ Ga e =l
(2) Medieval political thought was wrapped up WD ortfys frar dfge a0 il
with the dominance of Christian Theology in 0 entoe @ s 4 s al
intellectual life. @) eI Brer g <o Rigid i
(3) Political Theory up to and including modern () Tkt <@ 21
period has been a textual tradition. ® e e Gt o w0 ﬁ
(4) Contemporary Political Theory has bee:n L A : '
influenced by the ‘foundationalist turn’ 1n prESTiee AS ﬂ
i 1970s in Political Theory. ST gam 2 |
(5) Question not attempted (8) agiRa v
" 8. According to Almond and Powell, which of the 68. W@ AR viaw & R, Frefatad -
following are the outputs of a Political System? ﬂﬁ:lﬁ ToEe aaen @ a7
(I) Regulative outputs ?"é’-’: @ fafams feia
(I1) Cumulative outputs L& I BEERIRERG]
. (Il) Distributive outputs (1) fmeh ffa
(IV) Symbolic outputs (V) Yeldied A
Choose the correct option - : Hﬁ e g —
(1) Only (1), (IIT) and (TV) (1) Baa (ID), (1) 3R AV)
(2) Only (I), (I1T) and (IV) (2) B (T), (D) 3R (V)
@ (@ Only (1. (D and (1D @) @t (1), (10 3R A
(4) (1), (11), (II) and (IV) (@) (1), (D), (1) 3RV
(5) Question not attempted (5) argaiRa WE
69. Who among the following is author of the book 69. Fymiferiad H ¥ o diiefas s wieH
g ‘Capitalism and Freedom’? QD D AEh BY
(1) Isaiah Berlin (2) Milton Friedman ) g aRF @ WIS
(3) . Macpherson ~ (4) R.H. Tawney @) o1, A (8) FRUE,
(5) Question not attempted (5) srgrRa 9%
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70. From which of the following Amendm

the words “Internal

Constitution of India, ;
Disturbance” have  been subtracted  from
Article 352(1)?
(1) 44" Amendment Act
(2) 46™ Amendment Act
(3) 42™ Amendment Act
(4) 39" Amendment Act
(5) Question not attempted
71. In Which of the following year, United Nations

has adopted the ‘Millennium Development

Goals (MDGs)"?
(1) 2015 (2) 2020
(3) 2001 (4) 2000

(5) Question not attempted
72. Match the List-I with List-IT
List-I
Sy (Committees of Conslitluent Assembly)
% (D

Union Power Committee

(I) Committee on Fundamental Rights and
Minorities

(HT) Order of Business Committee
(IV) Drafting Committee
List-11 |
(Chairmen of the Committee)
(a) B.R. Ambedkar
(b) J.L. Nehru
(c) K.M. Munshi
(d) Vallabhbhai Patel
Code -
W 1), 11-(c), 1), IV-(a)
I-(b), 1-(d), I-(¢), 1v- (a)
@O0, 7., 1V-(a)

.-(c’i, ll-(b). 111~(d),;_m-(a)

ents of the

0. fifea 3 9 y
& g e 35UD 7 S

o gerdr T B?

W a4 e aiferf=re
12J qGar FEmer st
(3) d2ai eI S
() 30qt feimer SRR

(6) ar<IRa T3

AR ':i"

7. e & & f5R @l HOHgE

(2) 2020
(4) 2000

(1) 2015
{3) 2001
(8) grgiRa H=
72 A1 B e G-I 4 By -
-1
(@i e @ afif)
@D 51 SR T srewie Ay
(D) B e iRy
-1
(AR @ arezey)
(a) 3R s
(b) SITE. Ve
©) DA HAR ;
(d) FeerT 01$ ye
He —
) Lb), 11-(c), 11-(q), IV-(a)
VELL0), 1), 111 (¢), 1v-(q)
(3’ lm(d),ﬂ (b) IlI-(c) IV-(a)

@ dfeEr= & f"hr{ ¥y

A 73. C nn‘sl(lt

Procedu
(I) Th
o

(I It
m
Choose
(1) Onl
{2) On
(3) Bo
(4) Bo
(5) Qu

74. Consi

Secur
(1)

(I

Chox
(1) B
(21
(3)
(4)
(8)
75. In
Fre
(1)
(3)
(8)

22.¢
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A AS
=

\
-

Ta aC X

‘”T&_}__ P

1y . Consider the following statements about
Procedural Justice -
() The notion of Procedural Justice

corresponds to the philosophy of Socialism.

(I) It treats the rules of Market Economy as the
model rules of human behaviour.
b’

Choose the correct option - ﬁ‘;r ;;
i R g

bl

|5

(1) Only statement (I) is correct
(2) Only statement (I) is correct
(3) Both the statements (I) and (II) are correct

(4) Both the statements (I) and (I1) are not correct

(5) Question not attempted

. gl
» ,f,?.[*ﬂ
& r P

afparee = @ 4 ife i y 1
faar e — T{q@m’d :
(1) Sftparea = 2 el A
i & aFed B | S Eﬁ T
(I 78 deii 319&&1?1?211“ & i ' qﬁm 3|

STaER @ S eyl @
& fameu g —

(ydaet werL (D) o #

@) el T () TE |

(3) eperet (1) 31 (1) 47T |& g .
(&) or (1) 3l (D) S T ¢t &

(5) arxIRa 9

g ke 3 i

74. Consider the following statements regarding the 74. wgaa NI —dﬁ. "
Security Council of United Nations - fyrrforfRad et TR faaR 5
; , o
(1) The decisions of the Security Council on @ ey AW 9 G
II procedural matters shall be made by an Arof = i @ AR aa & g
. affirmative vote of nine _mcmbers. i _ o e <
I including the concurring vote of the. i‘tjfc, ;“ I l, : ; 1SR e I
Permanent Members of the Security &) Hﬁqi?‘f‘ I'ﬂ(tqi??‘ﬂ 4
Coungil. an e e =l W, G uRRug ﬁ-“iu
' (1) On all other matters. the decisions of the & weeli & THNEH 7 3 e e |
Security Council shall be made by an i o
i aﬂ“::naﬂve v:)te tuf ::ine members. - o e (ﬁ) e T
" Choose the correct option - A : _
| (1) Both the statements (I) and (I1) are not correct (2) o= (D ud (1) 21 9d &
| (2) Both the statements (I) and (IT) are correct @) daa FUA (1) & :
(3) Only statement (1) is correct (@& B T (1) T 3
(4) Only statement (1) is [:;rrect & i
(5) Question not attemp 3 |
. . r .ﬁ
75. T which of the following year India-Sri Lanka 75. ARA—Ae®1 qaa AR T FrEferad
Free Trade Agreement came into force? J fpsy ad T BT
(1) 2000 (2) 1998 (1) 2000 (2) 1998
(3) 2009 (4) 2005 (3) 2009 (4) 2005
(5) Question not attempted (5) arfaRa W
22-@
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nd select the correct

z ist-11 a :
ist.1 with List-I d Amendment in the

- Act an
ng the Ac : X
u g the code given below

76. Match List=4
']I]S“":r regﬂrdj

Constitution by usin

List-I
ct) i i

A) (L‘:;mc;ri[ulion (Ninety-third Amendment,
(A) LOI

Act ! _
B) ('OLI].\;titutinn (Ninety-fourth Amendment)
(

Act :

(C) Constitution (Ninety-fifth Amendment)
Act . . oy
(D) Constitution (Ninety-sixth Amen me_l_;%..{.::
Act ]?Jj

List-I1 L
(Amendment)

(i) Amendment in Article 334
(ii) Amendment in Eighth Schedule
(iii) Amendment in Article 164
(iv) Insertion of Clause (5) in Article 15
Code -
(1) (A)-(iii), (B)-(ii), (C)-(iv), (D)-(i)
(2) (A)-(i), (B)-(iv), (C)-(i), (D)-(iii)
@) (A)-(iv), (B)-(iii), (C)-(i), (D)-(i)
@) (A)-(iv), (B)(ii), (C)-(i), (D)-(ii)
(5) Question not attempted
1. Who stated that “religion is so universal, 77
permanent and pervasive in human society that
we cannot understand society without clearly

understanding religion”?
(1) AR. Radcliffe (2) K. Davis
Brown

(3) E.B. Tylor (4) B. Malinowski

(5) Question not attempted

78. Out of the following which concept refers to the
critical eye on the world, which observes every
social phenomenon in a larger social context?
(1) Social Research

) Socia] Theory

@) 5, iologica] Perspective
(5) Quesuon noti}.-at'__tgmpted

» | -

[or -0 9§ FET TR oy g,

76. =— ) i if,
gy e & R W r i 9 79. We can |
Ry Ty G @ AT T BY FEl Sy W subject b
H.M. Johs
(Etg;uq) not one of
¥ ot (1) Theore
(A) ST (IR = ) & (3) Ethica
(B) wfaer CIEEE] ) S (5) Quest
© ' ( | -. ) 80. Who has
(D) wifdera (fraradt wenes) siffy V9
| (1) M.N.
Z;Tﬁ;l—,l[) (3) Narm
Prasa
() Sg=dq 334 ¥ A (5) Ques
(ii) 3o STERA H M 81. In the P
(iii) 3BT 164 H HIEA Purusha
¥ @S (5) BT I @ (1) Mok
(iv) agees 15 ¥ @S (5) : i
o (5) Que:
(1) (A)-(iii), (B)-(ii), (C)-(iv), (D)-(i) 82 Out of
(2) (A)-(ii), (B)-(iv), (C)-(1), (D)-(iii) ey
(3) (A)-(iv), (B)(iii), (C)-(ii), (D)-(i) L) I"_Ve
(4) (A)v), (B)-(ii). (C)-(i), (D)-(ii) (3) Disc
(5) 3rgalRa g (5) Que:
| 83. Who ha

8 fOuDT Do & 6w wur ¥ o

human 1

TIHIED, il vd @ @ oW B we ) gn

W W @ T T Y e e @) Aug

g7 (5) Que
O TSR, Yefaers g @)@ f 84. Who

IR oy i : (1) Yo

ﬁ,ﬁm R' e @) M.

. T8 B smurm g v B Qu

AT e py TR TR &, o 9T 8. g

e o FIASTI DT U @S WIS T bysin

éﬁTtﬂ'lm'g‘? - custo!

. Bl union

is cal

(1) S

@B R

®) Q
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3 We can know that sociology i _=h
E 3 \ e Tthim;:lllk:g;n;it: sgenhl"uc 7. g, ST ERE R TR it 4 e
H.M. Johnson, Which of the fUl]OW_lnil\l’;:ilmbiy W BN o wad € 5 wEorre 9 Wa,‘;
not one of them? 2 favy 2| Fefefed & @ o [€3 Siiid
5 (1) Theoretical (2) Conilative U Tl 8o
“ (3) Ethical (9) Ermpirical (1) Prgiaas (2) w2
% (5) Question not attempted (3) ey &4)-&3‘?&1%
5 Hﬁﬁ‘ﬂ'
o 80. Who ‘has‘analysed.thc functions of caste at two  80. {\—,11% @ q;m’rq:w free) &) Wi — HiepIRD 3
levels — ritual and ideology? : i)
(1) M.N. Srinivas (2) RK. Mukherjee e w Rwafta faan 27
(8) Narmadeshwar  (4) D.N. Majumdar (g, s (@) IR Gl
Prasad (3) Tfe¥ar TEE (4) g, AHER
(5) Question not attempted (5) sraIRa we _
81. Tn the Purushartha System of Hinduism, which 8. f&=g & @I goure] Al #, far gt £l
Purushartha is considered as the ultimate goalds:y & afa &g | T 87
el (1) Moksha (2) Dharma N O @) o
(3) Kama (4) Artha @) & @) a1k
(5) Question not attempted (5) arRa TEE
82. Out of the following which is not an important 82. fymifoilRed ¥ & Pl e ok @1
source of social change? Heeaqel Tk el &7
(1) Invention (2) Diffusion (1) anfIspR (2 TER
(3) Discovery (4) Integration (3) Tt () TEHTHT
| (5) Question not attempted (5) srgaRa T& :
o o | 83. Who has said ‘Primary groups are the nurscry of 83 ‘wreifie T Hig @ P e () &,
human nature’? ug e @l &7 :
Pl e (1) G.H. Mead (2) C.H. Cooley (1) Shoe. 9 \'g)q.ﬁq-ﬂ )
1 el (3) Auguste Comte  (4) Emile Durkheim @) s B (%) e &=
(5) Question not attempted (5) FTRA e
84. Who believed that social classes are a 84. g fpad wFFT & 5w @ e
=5 characteristic feature of industrial societies? G || DA S L
| (1) Yogesh Atal (2) S.F. Nadel (1) gy arcd (2) THTH. e
(3) M.S.A. Rao (4) T.B. Bottomore (3) THUET. ¥ @ &a-&[ AR
£ | (5) Question not attempted (5) aremiRa W
ﬁ 1,1??375 & Suppose, there is a businessman, being a 83 WA Sferd, Te A @, 98 R BN & A
Haf A businessman he comes in contact with e, Torel, AR FifeyepTiRal T AR

customers, agents, income tax officers and trade
unions. The role pattern in dealing with all these,
is called .......covvisonesiee:

................................

o S 3 S & | i $ W R
aﬂﬁrﬁaﬁs@zﬂmﬁmuﬁnﬂ%aﬁ

I
(2) yfPresT He
(4) wfRefer e

(1) Status sequence  (2) Role conflict Wy ufRtefa geem
(3) Role set (4) Status set (3) wyfiyeer afcE
(5) Question not attempted (5) argaRd 9¥
_...-‘-"'/ ’ O
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86 WWWTWWH%

h
- ; srbert I!'{-ﬂaﬁ 3] © -~
. the name of the book written h)_ HL]t.JL Y g1 fered T Pl T 4
e A m“h' h is the first work of sociological
r WhIC| h :

f[;
o

it AT o " 92. In ancient
DpRES: e va o woman w.
aiﬂﬂf."""s['} nciples of Sociology (2) Q_Gﬁﬁ?a-_ﬁ Sk W with a m
(1) The Principies . / =11 £ | [ IS | o
(2) Elements of Sociology (3) T gUSg® Sffte pul'p'-"b: 2
(3) A Handbook of Sociology (4) wfErEeroll (;) Tali qa
() Sociology () arfIRe we i) Jncest
(5) Question not attempted S & fu SIS ) (5) Questi
; : ' ing siologists wfl m%;g?.. Who has ¢

87. Who among the [following soc : W BT HEE
considered sociology as a science tha ol o G T B SR 3 Sy _. commu‘na
systematically studies and explain overall AT @A grel fa= AT R Retreatist
perspective of society? (1) Ty, a1 (2) b, fSroee (1) G.R. D
(1) L.F. Ward (2) p. stl:_’en' (3) T g, areH (4) T ﬁl’fé?;q (3) Ram /
(3) H.W. Odum (4) F.H. Giddings 5 o (5) Quest
(5) Question not attempted \) ! 94. Which of
8. Who is the author of the book 88 QST IRWE: BTS¢ Tl 3y sfoeay T  Singh is
“Ending Corruption: How to Clean Up India”? B gD DI 8P System?
(1) S. Kohli (2) N. Vittal (1) T8, PIgell (2) T. ﬁm (;) Inc‘lus-
(3) K.S. Mathur (4) P.C. Choudhary (3 BTE AR (@) = vy (3) Priva
; ! (5) Quest

(5) Question not attempted (5) srgaiRa e

15 95. Which «
89. Who defined society as a system of usages and 89 gy AT Ea __qﬁ'lTl'ﬂT o 8V FET 2 5 W measures
procedures, of authority and mutual aid, of many &1 gunferar va ifery, arfergem U9 U

groupings and divisions, of controls of human BT, 377 HHEl T AT qorr HIHg amg ::;—11[1;-:;81
behaviour and of liberties? @ FE= o TIPSy 27 @) Flow

(1) John F. Cuber (2) M. Ginsberg 1) 59 7w, FE 2) vH. firagst (3) Land-

(3) FH. Giddings (4) MacIverandPa__ge (3) T U, fey EL%W R\ (4) Creats

2 (5) Question not attempted . (5) s/aRy yus : (5) Quest
* In structural terms, who has explained castes ag 9. TREE SRR 96 Amongt
“hereditarily specialised ang hierarchically ¥y W ﬁﬁgﬁf Sy i iy Eubl

arranged groups”, while

3R URTIH S ®Yy W ami supporte

as a system, he has WIE & Y w2 viafd U gomehra LD, Wi
referred (o its three characteristics; hierarchy, Y ¥ gy SHB! 'famm;ﬁ HT oot (1) POC
hereditary specialisation and repulsion? foar & GaTdsHy, PTT fEmwma o ©) Mo
WBR Chavhan () M.§, Gore feor? - ) Que
() C. Bougle (4) SN, Dasgupta '(_1) iﬁam' It @ T, iR 97. Under
(3) Question not attempted ) . dhr (4) vy us k3
o1. Wh: | (8) sk o BT fhe S
hieh of the ollowing i not a egt o HIV? ol po s = . el
™ ELIsA 2) . TN THIAEA. (HIV) BT € F (1) On
3) Wida @) Western Blo( & () On
7 Widal tegy @RI TYL (1) vhrs
IPA. ) vfer e o (3) On
G v g @ st e L
3‘.;?33:"3; i B Qu

2-@
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N
R i !
2. In ancient times. what was it c;
with a man other than her husband for .lhe 2 Em S oft & R Rl O SQ‘TE{&?]T
purpose of procreation in the family? ‘ il serf w2 @ A il
(1) Tali sanskar (2) Karew; il -Jﬂ\fn _i';ﬂ? | 7 :
(3) Incest (4) Niyog !(;Hf@ HER (2) el o
. (5) Question not attempted (5)) 'ﬂ;’.g:q :;1 @ﬁﬂ’m R? )
Ei : E l::)n:ﬁ;ig]ﬁ = ‘:::,‘Ol?o“fi“g' dimensions of 93, iR @ ffian ST P g#M 5
S . similationist, Welfaristjay & fee o - TR, reeToTaTal, #a
ﬁ?ll(l:j:b;dl:;;:\atow_ szyicvt;fllisl. Secessiunisl'?i-ﬁﬁ yfepueft wferameray, STETFATEY, f;r_m?nmé’f’ . : i
A e . K. Omnm‘en (1) Sf.am. HaTd () &1 SfITIH
(5) Question not fstast S G atratis
i attempted (5) argaRa u¥
58, Which of the following according to Yogendra 94 i RfE & ST 77 i 1 e
OTs; Singh is not a cause of change in the Caste areer ¥ qﬁ—qﬂq T HRO] TE B
System?
] e (1) slrenfieHReT (2) FTRIHET
(1) Industrialization  (2) Urbanisation . -
(3) Privatization (4) Modernization By YT (4) ST
(5) Question not attempted ' () i<l W
95. Which of the following is not one of the 95. fry ¥ & D AT S A DH o PA
AT measures for eradicating poverty or at least g4 ﬂﬁ‘{fﬁ w0 | FH HE D JUTHL H ¥ U@
R reducing it significantly? TE 87
I8 | (1) Distributive justice (1) fRazeT =
(2) Flow of black money (2) Tt o7 D1 HATE
| (3) Land-man ratio (3) AT FIA
(4) Creating employment (4) ORI
(5) Question not attempted (8) IR F¥F
96. Among the following Views regarding the nature 96. @i gANEE B WP Cd wof # feeifed
s of Public Administration which view was 3 R BE o SR G|
fRerd . supported by Pfiffner, FM. Marx and TAS. i fe| 1 T B
@ L.D. White? : T 27
=g (1) POCCOC view (2) Managerial view (1) i GReHIV (2) TEHET SReHITT
afR (3) Modern view (4) Integral view (3) s SReP (ORGIEN
| (5) Question not attempted (5) 3FTIRS W
97. Under the provisions of Lokpal and Loka 97. armue T4 Abgan R, 2013 ® WG
Act, 2013, how many members are required in & T, drepie #1 Frgfx &g & wff
the Selection Committee for appointment of ¥ fope Ha BN i
B Lokl o | \(3) T e g < A
: (1) One Chairman and Two members 2) v S T AR e

(2) One Chairman and Four members
(3) One Chairman and Five members
(4) One Chairman and Three members
(5) Question not attempted

(3) 7o el U9 O WA
(8) T FeAE Td T HEH

R s

— L 2-&
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."h‘

oo, forey H W N A A ST gy

; e ain b :
nich tof wihe following 18 not :::Ch?m qeaTd 81 27 08 Whowebi
# :;thrl';:itmn of Human Relations ApPS (1) YR - Reforms €
s fotvit 2) ferTe TR (1) G.S. P:
1) Motivation Wﬁﬁ—[ 4 -
:m individual difference _ (@) ARt B FHAITARD HIS
(3) Informal organisation of employees (4) ATl & el fod (3) K. Har
(4) Personal interest of employees (5) aﬂﬂf\)ﬁ — (8) Questi
(5) Question not attempted of 99. HwaH & ‘HEd Fdelk q&?ﬁ'ﬂr Gl 3]’{1? &}106 How mai
99. Who is known as mc‘ fmeml-u-];trlton HET SIral 8¢ Administ
‘Human Behaviour Approach Of:;rgamh Ly EG gy wee (@) T wa (1) Fiftee
(1) Mary Parker Follet (8) Elion Vy0 (4) AR T (3 Eight
: (4) Chester Barnard (3) gdc AEHT
(3) Herbert Simon 5 o (5) Quest
(5) Question not attempted Cﬂﬂf‘lﬁﬂ ‘ ' |
o : : 100. ¥ ¥ B SIEAT @ gy 107-In how n
100. Who among the following is associated with the ﬁﬁiﬁﬁﬁ'ﬁg? ity
“Zone of Indifference’? T B (@) 74 19
(1) Elton Mayo (2) Herbert Simon (1) Tees |l SIELS i
(3) M.P. Follet (4) Chester Barnard (3) Ta.dl. Hleic (3) T¥eR TS o
(5) Question not attempted o (5) S<IRE 99T .
i < eci
101. Who wrote the book “Public Administration ina 101 " uféc TSI § U <IgA 3K qom e =
Time of Turbulence”? g fbe ford? e
(1) Frank Marini (2) Christopher Hood (1) & =R (2) fheaime (S b
(3) Osborne & Gaebler (4) D. Waldo (3) ehwa @ fFaer  (4) 1. areer ® I-lIe;l-h
(5) Question not attempted (5) SR weE (5) Qe
102 The Third Minnowbrook Conference was 102 il fdiges SiFhd 6 2008 ¥ i 5
organised in 2008 which had the theme — ‘Public e o — fIsT T St FerRT, e ¢ -Wflluhch c
Administration of Future, Public Management of |y WS : ; i LY S s
Future & Public Services of Future’. Who Fﬂ$ _'I: vd sfas ﬂ% <l Hary v (1) Mess
presided this conference? : 9 AT o7 speaerar e 3y ofi? Feed
LD Wi b e A WISl @ Rt S
.D. White William A. e - -
Niskanen (3)- Wgﬁ R @ faferr g (3) Send
(5) Question not attempted ®) (‘Hﬂ?lﬁa bS] Feex
103.Who is the originator of the idea of 103. forer faaRe 3 RS- g fagR @ ) Me:
Politics - Administration dichotomy? URwET fr N e : Fee
(1) Henri Fayol (2) Woodrow Wilso & A ' (5) Qu
SAEOIL 1) 298 By A : |
) W.F. Willoughby ~ (4) Mary Parker Follet 23; B R S P 10 i
(3 Question not attempted % (5) Eﬂw H?gﬂ’lﬁ I_ﬂ) Y gk Blere ey
> among the following was appointed as first 104, | 2 arfye AR o ) Ha
e ormation Commissioner of India under Pl SRR SR, 2005 @ oA © (@) Ine

- of Right to Information Act, | IR @ w2 T @) Us

L Tu i) - t‘) M}
141, ordare it
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I

105. as
Who was not the member of First Administrative
Reforms Commission of India?

(1) G.S. Pathak (2) Harish Chandra

Mathur
(3) K. Hanumanthaiah (4) V. Ramchandran
(5) Question not attempted
106. How many reports were submitted by First
Administrative Reforms Commission of India?
(1) Fifteen (2) Ten
(3) Eighteen (4) Twenty
(5) Question not attempted

107. In how many groups did Henri Fayol divide the
totality of activities of an industrial undertaking?
mo (2) 8
(35 4) 6
(5) Question not attempted

I ¥

108. “A decision making is the selection of ong
behaviour alternative from two or more possiblg!
alternatives”. This statement was given by -

(1) J.C. Glover (2) Lundberg
(3) Herbert Simon (4) George R Terry
| (5) Question not attempted

109. Which of the following is the correct sequence

o of the communication process?
AT (1) Message. Sender, Receiver, Medium,
Feedback
(2) Sendcr, Message, Receiver, Feedback,
Medium
T (3) Sender, Message, Medium, Receiver,
Feedback
< @ (4) Message, Medium, Sender, Receiver,
= Feedback
f (5) Question not attempted
110. Which of the following is not a principle of
scientific management?
(1) Harmony rather than discord
3 @

(2) Individualism rather than cooperation .

(3) Use of Science rather than Rule of Thumb

(4) Maximum production rather than limited
production

(5) Question not attempted

(1) 9 28
@) 5 @) 6
(5) arTRd U
121108, amﬁﬁa@rmwﬁmﬁ%ww
i mﬁmm@mﬁﬁmﬁﬂ%i
peidT DI BF
(1) S, TeraR (2) grest
(3) = WA (4) ifst SR
(5) IR U
109. Rr=fofag & @ GREO 9iHar el HH
Pl B2

7
105. Fq TN B e T T arran!
I HE ar? .
(1) Shge. wew (2) g9 A= 13
(3). %, BRI (@) & A
(6) argeiia we
106. wwey o word A G g 17
yfedas et A or?
(1) 9@ (2) &4
(3) SEWE KOk
(5) & GRS

107. =181 il § ety aienfiie SUPH i S
fararail Y ey gl et €7

(1) ¥ew, TP, T, Hie, ST
(2) e, e, wraddl, sfafha, A
(3) <, e, Hew, wradal, it
(5) areife F

110, Ryeifarfa & § SIFET TS de F1 g
a8 &7 :
(1) e & w=IE R WA
(2) GepiRar.® I R AfHAS
B & Frm & o W RET o S
(&) it ST B I R ST e

(5) 3rTIRa T
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11. What do you mean by ‘Unity of command’?
111.

ill recei Wy iis?
(1) Subordinate Will receive orders from only ) E!"TH ( -
2) it
ot mmwmwwéwéﬂaﬁng (z))litisa
(2) Boss can give only one order, 3) ? zf;‘qﬂ T Ry &y W _‘4’_“ x
i i (4

(3) Boss can give orders to only one subordinate. WHT g | | gt

(4) Subordinate will receive only one order. (8) apfrreer $) dad I &l e Uy Ehﬂh 5 Que

(5) Question not attempted (5) ﬂﬂﬂﬁ'ﬁ Lo | sl pic

2013 i

112. Which of the following is not correct regarding  112. @ireurel Gd altbIgFT aﬁﬁ:ﬂ Ga i

Lokpal and Lokayukta Act, 20137 et ﬁ ﬂ‘ Eﬁ’f‘lﬂT |8 qﬁf g

(1) Former Prime Minister is in its Jurisdiction,

(@It will complete the investi eation | in
6 months.
(3) Tt will consist of Chairman & 8 me
(4) 5 of these will be Judicial memb
(5) Question not attempted "
3. Which Report of the Second
Reforms  Commission i)
‘Ethics in Governance’?
(1) Second Report ¥3
(3) Seventh Report  (4)
(5) Question not attempted
114. Which notion is expressed in
of the Rig-Veda?
3) Theism 4)
(5) Question not attempted
5. This is the correct
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cncratic Method is e ~:
B B 416: Socratic § called Dialectjc,
d dlectical because -

5 T . - )
(1) it is @ method of leaching

&) I (2) itis a method of -“elﬂknnwledge

sm;,)' -,,J (@) it |5.= a method of Question and Answer.
ey X @it 1s @ method of argument and coupger
'thﬂ argument. =
[ .
(5) Question not attempted
33 ..

yq7.J which Philosophy. it is preached 1o renounce
all worldly pleasures and lead a life of austerity
jnd detachment in order to attain salvation?

V6. IBRT vy« @ o o ¢
i — :
M 78 v fen o gafy 2
)7 wep H—57 &) vl 2 |
@) U8 uw Ay we ) gafy 2
@) 78 7% ol ARy o wha B
(5) arfaifa wee
7. Hrer yifey & forw W winlRe ﬂf‘ﬂ il
XD PER GUEN 7 ARt haw w1 SRy

g HIC

(1) Charvaka philosophy I T faur w27
1 ’ (2) Jain philosophy g: ?fﬁ F:%i’[
| (3) Buddhist philosophy &
_' (4 Gandhian philosophy \Brdig 2
| (5) Question not attempted () =Ty <ot
(5) = RS
J Hﬁ% 118.0f what quality or vow “Mithyopadesha” is a 118. 5 a?hﬁ:} SR “feider” fw or T 7
| ransgression (atichara) according to Jainism? 4. A
5| II (1) Achaurya (2) Samyak-darshana ¢
" (Non-stealing) (1) 3= (2) g
I (3) Ahimsa (4) Satya (Truth) @3) s \(:;)};@r
(Non-Violence) ally
31T (5) Question not attempted :l“. (5) SigsiRe ot
119. Which of the following statements about the 119:9ai & arR # =1 # & @Fa FIF IWA
Vedas is False? 27
(1) Yajurveda has discourses on rituals. ) -Aaode 4 wHETE Wl T E |
(2) Vedas are non-human. \(2)-9¢ apiredy € |
 _ (3) The Vedas are full of knowledge of (3) 32 ¥ Bae Scfs Ral F S AR P
o A supernatural subjects only. \@'w i T |

(4) Rigveda is the most ancient.
(3) Question not attempted

120. Descartes? Philosophical Method for attaining
certain and undisputed knowledge of Soul, God

and World is -
(1) Scepti : i
g ; cel?t?cal (2) Dialectical
) Intuitive (4) Transcendental
©) Question not attempted
——

22_@
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g1 qHAD ¥
. & g ¥
111. ‘gred il

- and’” i g ¥ TIEG . 496, Socrath
441. What do you mean by Unity of command’? w@ﬂﬁ.ﬂ F1 A . b
(1) Subordinate will receive orders from only T, 0 st OF TR T T @) it is
one boss. (2 Sl v TR FY m (3) itis
(2) Boss can g__ive only one order, (3) Hﬁlﬁm Sl (4) it 1
(3) Boss can give orders to only one subordinate. Tl 2 | o & S WIS 2 argi
F’ aﬂ— (] ||;
(4) Subordinate will receive only one order. (4) SrETTE @l (5) Qu
(5) Question not attempted (5) ﬂﬂﬁﬁﬁ & GTW 2013 & e 417- In whi
112. Which of the following is not correct regarding 112. FipuTel v S Flﬁ 2 . all wo
Lokpal and Lokayukta Act, 20132 B i Eagkil 33 and d
(1) Former Prime Minister is in its Jurisdiction. \()"I‘i qeTTHAT g‘ﬂiﬁ GEL : (1) Ch
(2) It will complete the investigation in (2 T8 6 Tea # Wi g BT | (2) Jai
(3 :’trwn:?tcl:ns:si of Chairman & 8 memb. Gl Y < Tﬁg Eﬁ‘ g ([i)) ](33[
n embers. : I :
(4) 5 of these will be Judicial members, ¥ Fﬁ—-\j—s 2 (5) Qi
(8) Question not attempted (5) argaRa we
113 Which Report of the Second Administrative 118 i gty TR AR & HIE fte 118. Of w
Reforms ~ Commission  is  named . as @7 FH I Afdbdar 87 trans
g i“df;:"m"“"-’(z} sl O) TR IR (@) ey wfaee L8
econd Report ourth Report e _ W (®
3) Giqal yfae 4) <Hai yfaaes
(3) Seventh Report (4) Tenth Report R @) <aa (3) A
(5) Question not attempted () SR 327 a
4. Which notion is expressed in the Nasadiya-Sikta 114 x3ag 3 “ﬂﬂ?ﬂﬂﬁ ﬁ e (5) Q
of the Rig-Veda? F= R - e 119, Whi
(1) Atheism (2) Pantheism LA (1)L afea=are () Yy Ved:
(3) Theism (4) Monism (3) ggqm : i e, LR B i
5 i tt d T
(5) Question not attempte (5) sraRa ues e : @\
115. This is the correct interpretation of Normative 115. gesiyed G‘m’lﬁﬁm‘ﬁ A 2o @) T
Unhtﬂﬂanlsm - i (1’ Wﬁ--ﬂ@ $ URIEG e, ‘ﬁl st
(1) In this besides happiness, knowledge, truth, X e Y ¥ e @R
virtue are also self-achievable auspicious (2) 3a8 Y FT gﬁ gfd“ _ | ) 0
(2) In this one’s own happiness is the only ideal aey 8 i 120. Desc:
for human actions (3 590 P Afk certai
(3) In this maximum happiness of maximum ey 8 and W
people is the ideal . @ wﬁ-{\qﬁmgﬂ'@' (1) Se
(4) In this happiness of others is the only ideal e @ (3) In
for human actions
(5) :qgﬁﬁa PES]
(5) Quemonnmam:mptad : ;

22.
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. ¢ Metho .
16 gocrald od 18 calle . - [
! led Dialectical because 6. g pEl e
* Hishlics 'I"_]‘:gﬁ q"j]’ E}"-—QTﬁTCﬁ e
Fifds — -
(1) 77 vsp PEn & TS5 2l

@ it is a method of ar \ (2 TE T S D aefd &
JLoargument and counter @ 1
argument. ) U e ol SeR 1 uE

' 2
(5) Question not attempted () =g e o ufd—D ! T
: - : (8) araiRa ue
117.In which philosophy, it is preached to re
e ) O renounce  17. gy wiftg & forw o iR g@
a1l worldly plea:«tmes and lead a life of austerity P & o e
and detachment in order to atiain salvation? ik HeR queEl g A
(1) Charvaka philosophy ' :1| v ¥ fo &7
(1) =mai® &9+

a me > .
(1) itis a method of teaching,

(2) i1s a method of selfk .
If knowledge.

@ it is @ method of Question and Anisw
swer.

1 A
7 Saad

(2) Jain philosophy

(3) Buddhist philosophy (@ o =i

(4) Gandhian philosophy \ga;f%ﬁg o

(5) Question not attempted (@) ifeh =i

(5) J<IRT U

<5 118. Of what quality or vow “Mithyopadesha™ is a 118. 59 g3 @ SR ﬁ@@ ferer T a1 A

gransgression (atichara) according to Jainism? [ %2

BT JeAUT B
(1) Achaurya (2) Samyak-darshana
(Non-stealing) (1) areitdd () FrTE
(3) Ahimsa (4) Satya (Truth) (3) arfEwn (4)
(Non-Violence) |
T (§) Question not attempted ‘f‘. 9 e
19. Which of the following statements about the 1833 & IR A = ¥ Y FrE A IEA

Vedas is False? =7

(1) Yajurveda has discourses on rituals. ()erie # FHHTS FEE = ¢ |

(2) Vedas are non-human. (238 U € |
| (@) The Vedas are full of knowledge of (3) 321 3 B Srelfe® fAwal BT T W 2 Px
ot supernatural subjects only. L@’ e e W 3

(4) Rigveda is the most ancient.

(5) Question not attempted + :q:_mﬁﬁ -
e ot attemp

120. Descartes” Philosophical Method for attaining 120 ST, £7AR A S T Y afﬂ Ffdar
;@ certain and undisputed knowledge of Soul, God e el ® e e @ T fafl
: and World is - B
ard 1) Sceptical ~ (2) Dialectical \(1) ST e @ gER
®) Intuitive (4) Transcendental (3) 3t W 18) STeng
5) Question not attempted I (5) Wﬁﬂ ikl
LA

e Do e
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1 > o arc
[h(,’ U]HUII.&'h:ILL‘-, [hf..lt
0

21 According .o of the soul -
L 1':1-11'1.&11"*'3“--“
[lowilis

Avasth Vaikril Avastha,
t vastiids
L va Avastha

riya Avas | _
5 1_,1 Swapni Avastha, Sushupti
yasthd, =27

‘uriva Avastha
Turiva Avd |
krit Avastha, Swapna

Swapna
fo
(1) Jagrd

Avastha,

(2) Jagrat A

Avastha,

(3) Bhootadi
Avastha, Sus

4) Vaikrit Avastha,
Avastha, Turlya Avastha

Avastha, Vai
huptl Avastha |
Swapna Avastha, Sushupti

(5) Question not attempted

122. Which Theory of punishment does depend upon

the concept of Self-Determinism?
(1) Only Retributive Theory

(2) Only Reformative Theory

(4) Only Deterrent Theory
(5) Question not attempted

123. According to Kant, which one of the following is
not included in the essential postulates of
morality?

(1) Freedom of will

(2) The ability to perform actions
(3) Immortality of the soul

(4) The existence of God

(5) Question not atterpted

124. Which is not a Vedanga?
(1) Chhanda (2) Ganita
(3) Kalpa (4) Shiksha

(3) Question not attempted

125. Point out the correct option from below
regarding the relation of means and end with
fespect to non-violence, Truth and God in the

P

121, gufEl @ AFAR, S Bl 7 o oy

5o \ e
AR, Ww . 9 2aeg
(1)G|T§Iﬁ \'_ﬂaq&“ m 21 lﬂr,q'.,.\: (1) A
2 m—_ h 2 F
AT d
(3) ';fﬂ'ﬁ' e, ag:’ﬂ AT, Wqw Hepy,
. : | (3) B
@ AT e, S AL G g, (4)E
e | i
(5) IR U

122. qug H1 HIdl Rigra Se—fa=omg (5)
(1) ol RERIED R ey
2y Fad gardrdl Rygr= =
@) ufaRicis R 3R SRREwS fig 5
il (B

() Fae gRRETeS Rigrd
(5) SIg=IRT g («

123. e & SER, AfdHal &1 Fa9ae T

(1) HHT BT WA= : S
(2) B4 FXT BT &HAT (1
(3) ST, B SR :

(5) SreRRe wee :

124 i G5 T 87 (
( o ‘ @) wfere 128.
8 s (4) Reerr
(5) 3

125. 3t & Dfreren A AR WA Ay gy ¢

: (

LRG| '
B

e H weg-—weE @ e |

Ethics of Gandhj — mﬁ Ay Fﬁw —i " 129,
Non-Violence | Truth | God i e Y
(1) means means [ end S e .
(2) means end end @ e e
3) end means | end (3 wrm W,
(4) end | end | means (4) . e
(1) 4 @3 e @3
@) | @) 2
(5) Question not attempted |



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

\

(T

3 - -
‘"t} 'wh',dl_!-\m-imim 18 false ip the ¢q
Wy grilitariani l?'l. Ntext of M|’ 126, fir . e @I
Y (1) Along w:lh quantitatiye diff & Sqifrarae @ Hen H
W qualitative difference " h'lppf'!rence, there ig ¥ B? -
: : APpiness. 3 :
: @ Hal?pmess is the basjc Purpose ;: ) gm 3 uRemones e @ 7oA xfﬂ?q
Fve, desires. ¢ L all humay, a4 W e 2
, 3 Thcr(?. IS only quantitatiye diff (2) ¥ & ey ot e g B el garay
happiness. erence ip 3 3

vy 4) The auspici iy .
3 determjncg b;‘i:;e:" of an action ie B # dae gRmomeTEs 9a el 2|
appi ) ; .
3 PPiness resulting from @ T it ypved wed e @ A iR Bl
T % (5) Question not attempted B
(5) argeia

Neti-Neti” i ; :
e N.eu | lB 1S ' gwd in the context of 127. Frfor 7er @ vt # AR @ g foT
‘Nirguna Brahman’, which indicates that - e
T 8, Ol guier & fh —

%'EW (A) this is a negation of the qualities related to
Brahman (A) TE 7 famas Tl @i iy 2

(B) this is the realization of the indescribability (B). % gl & Az @ I ®

C) fliisBir;aahnSlz[gluna explanati | : (€)' T8 Fm1 3 v 1 S 5
o L e e RS T + 1!
+? (D) its culmination is silence we) fwed &1 w7 W -

Select the correct option - (1) A,BaC W& &

(1) A, B and C are correct @ A aB T ¥

(2) A and B are correct ' @LA,B'&DW&"I%‘

(3) A, B and D are correct W

(4) B and C are correct :

, - ~ (5) IR W

(5) Question not attempted
128. et @ Riew ¥ YR Tiq TR T FO

18.The peaceful attitude induced by the ;
contemplation of art is the best jllustration of - R .% —
(1) Anandamaya-Kosha (2) Pranamaya-Kosha (1) e o o (2) W Earifcal
N @ ~ (3) Vijnanamaya-Kosha (4) Manomaya-Kosha (3) RisTa DY B W FIIT B
ardl i (5) Question not attempted ®) IR Wﬁ; o gl
8%t is. the meaning of “Samyak Vyayamd’ 129. 91 ﬁﬁfﬁﬁ IR P A
according to Buddhist ethics? e &
(1) Concentration of mind ) ferr @1 GpTT
jousness and (2)gjqaﬁw%aﬁ1w$ﬁﬁ3%§uﬁ

(2) Efforts for the creation of auspic

(3) =gl SRS

prevention of evil
® Justlivelihood o 7 % T
.-(4):% Determination to follow the ath of truth (5) argiRd ¥E
_:E)'Qﬂe.stion_ not attempted

:- 2. \  page z*:gf'g
. : Y
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pnmmy consequence of practlcmg

180. What is the
) Sm;al presnge
(3) Equanimity
(5) Question not attempted
131, According to National Curriculum Framework,
5005, which subjects comprise under Social
Science at secondary stage? )
(1) History, Geography, Sociology, Pohtlcal
Science, Economics
(2) History.  Geography, ~ Political Science,
Psychology, Economics
(3’ H:lstory, Gﬂl}gmphy, C“rlcs’ Ecﬂn ’ v
Human Scxence '
Economics
) Questlon not a!temp d

(2) Success
(4) Self-improvement
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pich one of the follow;

W A
(35 ng is
1-Hc|b.lﬂl.lll five st S Correc s
t-:l preparation P &Pproach oi‘T;:,-s?quenC“ 18 o 4
) Presentation —— o o 3w @ e gar
IC‘ Application s AR H F wyrar w8 w9 80
{C” E\e'aluatiun (I:)i ‘%UT?[
: Generalization : SRR
':ml' (e S () ~3rmray
iy 0 Association ()
Choosﬁ the correct code - m)”wﬂ—i‘l\"}?ﬂ'l
o (1) b, ¢ 4 = f @ a,b, ¢ g ¢ (0. wEed
. (S)a.b,c: ge (4} a!h.f‘e:c mfﬁ‘azﬁ‘fﬂ'&-{ -Eﬁfﬁ.ﬁq—
(8) Question not attempted Mb,c.def (@, b d
Ui e @ abcde ) a,b, . €,
.In relation 10 type of questio : (5) argeRRa v
[lowing pair is not ¢ NS, which of the 136. yusi o oo “
= fo orrect? SR B e &, Prefertad # § DI
(1) True/False - Recognition T Har A8 87
(2) Matching - Recall (1) Wy / areied — weafiEe
(3) Blank completion - Recall (2) e — WermeRol
(4) Multiple choice - Recognition (3) R gt — TR
ST (5) Question not attempted *i:: gD — M
: ; : : 315!“'%'_:[ U=
< m.vm.ch of the follf)wmg is not a component of  137- f Y i s
ST Social Sme.nce'Umt P_lanmng‘? e qﬁ[ 2 L
(f) Determination of instructional objectives 1) SRS e &1 i
(2) Formulation of introductory questions (2) W‘[.ﬁgﬁ:ﬁ e fmio
(3) Decision about teaching materials (3) R GERE e FoE
(4) Division of sub-units (4) Su—gHred B faeE
ot (5) Question not attempted  (5) sigERd I
- 1]y Social Science teaching, globes which are 138, weore fasm o 3, S el Hacl TAT
E used only with surface areawise outlines are R HOREl @ W I ¥ A S €
known as - FEA © —
(1) Political globe (2) Celestial globe )y s @ e Teld
(3) Physical globe (@) Slate globe (s)ﬂﬂﬁﬁﬁ T;:r . B wR e
(5) Question not attempted SRS
S SR ; 0. FyquTed WLl B W ¥ fyefafaa 8 € @0
m‘whlch of the following is correct rcgardmg 13 qjﬁ'%? oAl @ AT
:maytype que'stions? e ﬁﬂﬁ aﬁlﬂﬁﬁ B FIER
{3) Opportunity to thought expression 2 A by
2L (b)'” gy [0 thongn: <3P (b) T § ARSI
Objectivity in evaluation (o) T reret 1 TRET
) Evaluation of writing skills () areETE i BT
9 Evaluation of citical thinking o 7 T T A
00se the correc - e j
i {255 4 M @owEe  AOTO
PaL0a0) (2) (b) & ( (Ba,uE@  @OT (©)

) & (d) (8 (b) & (©) (5) el e : oy
tion not attempted

Page 290f32 .
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e fAfey o ST TN, 9% S,

140. 7]

146-
. ilosophical is
40, project Method is based on which philo: {4 n—dﬁén'f.' L(’z”"}?ﬁm Y%7 ex
! '»}I;jmgv‘-’ " (1) BT (4) Termeiarg a
‘I_” d -1i1' 5t (2) Pragmatisn (3) wBfdaTs 3
o s (4) Realism Tafdd ueAd
(3) Naturalism (5) Ar ; e _ (5
5) Question not attempted J Wfiqﬁ | ?e[ aﬁ:ﬁ:ﬁ VEA '-?I'é‘\'[&m %)
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